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COST ACCOUNTING

Paper 11
(MCQ + Theory)
(Thursday, 22-3-2018) Time : 2.00 p.m. to 4.00 p.m.
Time—2 Hours Maximum Marks—10+30=40
N.B. .— (1) Solve Question No. 1 on OMR sheet during the first half an hour.

(1) Question No. 1 and Question No. 2 are compulsory.
(111)  All questions carry equal marks.
(iv)  Use of simple non-programmable calculator is allowed.

() 99 %. 1 8 OMR Sheet %= HIedE=] AR M0 a1 TSt ufgen i
a9 des TaId.

() 9 ®. 1 A A w2 AEE AR
() \E YAAT FHHE O 3T
(fv) UM Rl 7 AV W&l holereied SoRudre Yt 31re.

MCQ
1. Multiple Choice Questions : 10
agq?ﬁeﬁ R
(1) The cost unit in passenger transport is .................... .

(A)  per passenger kilometer (B) per ton kilometer

(C)  per person day (D)  per person meal
W a-lgiaﬁ—d ................... -q-ﬁ\a-q w mﬁ

(A)  ufd gersll et (B) ufd =9 foharHex
(C)  ufa =i fgewm (D) ¥fd =it dieH

P.T.O.
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( 2 ) A—71—2018
The following item is a running charge :
(A)  Petrol (B) Road licence
(C) Insurance (D) Rent
@A T8 ¥ Th W TE AR
A)  Td (B) s wWam
(C)  famm D)  wre

Total operating cost is ¥ 1,08,000. Total passenger kilometers are
4,32,000. Then cost per passenger/kilometre is 3 .................. i

(A) 0.05 (B)  0.50

(C) 0.04 (D) 0.25

TR UfETeE TR T 1,08,000 TR, THU Yar fReHeR 4,32,000 3R
@™ -q-ﬁ_l- Hq|{"|'\|/r°hQ’1\|H'\|d{ {gl_ci" ? ...................... 3:R:R'ﬁ~

(A) 0.05 (B) 0.50

(C) 0.04 (D) 0.25

Due to carelessness, accident ................... are occurred.

(A)  Abnormal Gain (B)  Normal Loss

(C)  Abnormal Loss (D)  None of these
foshTeaSTao, STTEMAIed BIOTR JohE AT e TEUTATCI.
(A) IR0 s=d () (B) HHERO BHI

(C) ST HIERO Bl (D) =Rk ATE

Sale of by-product is taken on ..................... .
(A)  Debit side of Process Alc

(B)  Debit side of Abnormal Loss A/c

(C)  Debit side of Normal Loss Alc

(D)  Credit side of Process A/c
S-S forgy e T S

(A)  faur afiem dear= fasked s

(B)  STHI¥RY BHI @Al fashed sISe

(C) ¥R B A=A fashe™ SSe

(D) faur oo cear=n gaehe e

C62AB814A7072AD6AE1BASATEI2F4B9S



WT

(6)

(7)

8)

( 3 ) A—T71—2018
When a product passes through distinct production stage to the
completion, then this method is known as .................. .
(A)  Process costing (B) Contract costing
(C)  Operating costing (D) All of these

Siogl Weh ScaTeH SedreATeAT fafae stae Ay Se qoicrd 3d Jeel o faahmit
WWR‘[ -a-UTl:qT L“r\{oqu'i l‘lﬂs\cﬁ(’“ "’E>U|C||('| ................

A) fom 9Remem (B) <& uReATH

(C) Uf=ETeH aRerm (D) = &

Goodwill written of Financial A/c will be ................. proft of Cost Alc
in reconciliation statement.

(A) Added to (B)  Deducted from

(C) Ignored from (D) All of these

ol A BN U=gTed shedi JRIHBA 0N ToehmeE o TRead oiear=
.................... \_Y"ﬁ

(A)  TEme fefad (B)  THIMYT S el

(C) TN g oad (D) =’ &

The item not included in cost .................. .
(A)  Goodwill written off

(B) Dividend received

(C)  Interest on Bank Loan

(D)  All of the above

(A) TICAE ST
(B)  THeorctenm wmamen
(C) Sh=AT Tvlleild oA

D) T Fe

P.T.O.
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( 4 ) A—71-2018
Contract price T 1,00,000, 40% work is certified. The value of work done

1S e, .

(A) 20,000 (B) 30,000

(C) 40,000 D) 25,000

SR gea ¥ 1,00,000, UM HE 40%. TUI wholedl wEE o

(A) 20,000 (B) 30,000
(C) 40,000 (D) 25,000
Work certified + Work uncertified = Cash received + ...................... + work

in progress.

(A) Material (B)  Wages
(C)  General Charges (D) Reserve Profit
g-l:n-ﬁj-lﬁ Eh'l?fl + Wﬁm m — 9Tq ﬂ-@- g + mmﬁ aﬂ_&f
(A) | (B) =
(C) HME = (D) e TH
Theory

Nath Contractors Ltd. began to trade on 1st January 2016 and during the

year were engage on one contract of which the contract price was ¥ 5,00,000.
The Trial Balance extracted from their books on 31-12-2016 stood as

below : 10
Trial Balance

Particulars Dr. Cr.

4 4
Share Capital — 75,000
Sundry Creditors — 15,000
Land & Building 40,000 —
Cash at Bank 10,000 —
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Contract Account :

Materials
Wages
Plants
Overheads

Cash received

(being 75% of work certified)

¢ 5)

A—71-2018
65,000 <o
1,25,000 W
40,000 s
35,000 7>
o~ 2,25,000
3,15,000 3,15,000

Of the plant and material charged to the contract plant costing ¥ 6,000 and

materials costing ¥ 1,500 were destroyed by an accident.

On 31st Dec. 2016 plant which cost T 14,000 was returned to store. The value

of materials on site was ¥ 5,000 and cost of work done but not certified was

% 11,900.

Charge 10% depreciation on plant and prepare Contract Account and Balance

Sheet as at 31-12-2016.

MY Higa fd. AT 1 STHaR 2016 TSt AR & el 1 9a9id 3 5,00,000 o

AT ST T & hal. oA TEahEEd 31-12-2016 Jsi=t aRken gt @efa

O BT
uftem gei

faawor foeh. T,
3 3
qM iead — 75,000
fafay 3@l (&) — 15,000
e smfor gARa 40,000 —
Fehdld AW 10,000 —
P.T.O.
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( 6 ) A—71—2018
SRl @
BSiep| 65,000 e
L 1,25,000 &
LRE| 40,000 e
e 35,000 2
EISERE 3 2,25,000
(oG = 75%)
3,15,000 3,15,000

IR Urefaeiedn I3 offor |t et 6,000 2 T S T 1,500 HeATen wwRft
AYEA T HATEA.

31-12-2016 IS T 14,000 o3 fohmc= I3 WUSOAT WA e(auard 31lel. o=
TJMEER % 5,000 Hear= At Riectsr $TgA STy i< 9Remd ged 11,900
B

FATEAR 10% ST TGN SATRRT A0 2016 TETAST T e 9 Rerdifaemor TR &

A product passes through three processes known as ‘A’, ‘B’ and ‘C’. From the

following information prepare process accounts :

Particulars Process

A B C

4 4 4
Materials 20,000 30,000 20,000
Labour 10,200 42,800 16,600
Overheads 17,000 40,000 25,000

10,000 units @ ¥ 2 per unit were issued to process A. Output and normal
wastage are as follows :

Particulars Process

A B C
Output (Units) 9,400 8,800 7,700
Normal Wastages 4% 5% 10%
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Th S ‘e, ‘e g s S A faEgd qul B Sl Aifedl o faen o
qa {0

qauviter faem

<) E] ®

4 3 4
ﬂTﬂ"Jﬁ 20,000 30,000 20,000
‘ﬂ?ﬁ 10,200 42,800 16,600
A 17,000 40,000 25,000

faen ‘a1 o 9fd The T 2 oA THO 10,000 Theh Ffas3 AT ATl Bld. IcA_A
Theh § WHNO BHI el JHIO

AU faerm
H El %
3cqred  (Weheh) 9,400 8,800 7,700
HIYROT M 4% 5% 10%
Or
(fenam)

The following details are extracted from the costing records of an oil mill for
the year ended 31-12-2016 :

Purchase of 500 tons copra ¥ 2,00,000.
Crushing Refining Finishing

4 4 4
Cost of Labour 2,500 1,000 1,500
Electric Power 600 360 240
Sundry Materials 100 2,000 —
Steam 600 450 450
Repairs of machinery 280 330 140
Factory expenses 1,320 660 220

P.T.O.
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( 8 ) A—T71—2018
Cost of casks ¥ 7,500.

300 tons of crude oil were produced. 250 tons of oil were produced by the
refining process.

248 tons of refined oil were finished for delivery.
Copra sacks sold for ¥ 400.

175 tons of copra residue which was received from crushing process sold for
% 11,000.

Loss in weight in crushing 25 tons. 45 tone of by-products obtained from refining
process I 6,750.

Make out accounts in respect of each process and calculate the cost of the
product per tone at the end of each process.

31-12-2016 TSt THTG BT FOTh AT Tehl qat TRUM= URea™ e el Seitd
Hifedt STt Sledl e :

500 27 WearE ®BRat T 2,00,000.

4 4 4
ga () 2,500 1,000 1,500
forga et 600 360 240
fafay amf 100 2,000 —
Elig 600 450 450
AT SO 280 330 140
HRE ©E 1,320 660 220

sl T % 7,500.

HiE fa8qd 300 =7 ®HS d@ Haw.

Rt faegdqa 250 < da e

fRfafer fasqa 248 =7 9a fowm TR fHeral.

eprHl drdt T 400 < fersmie.

Him fauqa faaciell 175 27 @9 (copra residue) fasha ¥ 11,000 fHesrel.

S fagmed 25 27 aAEt @A gl Remf fagqd 45 29 3R 6,750
= e,

T fa8=n ol TR &ed 9fd 29 9ied &l
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( 9) A—T71—2018
From the following particulars, find out the profit as per :
(a) Cost Accounts,
(b) Financial Accounts, and

(0 Prepare a Reconciliation Statement for the profit shown as per Profit

& Loss A/c and profit shown as per Cost Accounts.

3
Opening Stock of Raw Materials 1,44,000
Opening Stock of Finished Goods 2,88,000
Purchase of Raw Materials 8,64,000
Closing Stock of Raw Materials 2,16,000
Closing Stock of Finished Goods 72,000
Wages 3,60,000

Calculate factory on cost 20% of prime cost, office on cost at 80% of factory

on cost.

Actual works expenses amounted to ¥ 2,27,150 and actual office expenses
amounted to I 1,85,950.

The selling price was fixed at 20% above the cost price.

Qe ATfadas
(31) R oW
(&) focia oEEia oy Afed a1

(&) focia deagar o st 9t deargar. fegom=an e fHeset wom
FHYE foeo qFR K.

3

oAl G URY0T The 1,44,000
fafda A= gRym @Ry 2,88,000
HeA AT BRET 8,64,000
P.T.O.
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( 10 ) A—71—2018
el ATHIET ol TR 2,16,000
fafHa Aremen awo @y 72,000
ES 3,60,000

JuE 9ReTam=n 20% SREE Sifyerd oo R ifiegar=n 80% SEied Sifveg
STHNI.

JrIfaesh HREM 29 T 2,27,150 M0 ar&qdfass swEed 2™ 2 1,85,950 2.

THU GRFFER 20% TH 3Tehred faskl ferma ffved oA sl
Or
(fenam)
A transport company operates two trucks. The following is the data regarding
the monthly cost of operating them :

Truck A Truck B
3 %
Driver’s Salaries 250 275
Cleaner’s Wages 150 160
Petrol 300 350
Mobil Oil 25 30
Garage Rent 125 125
Taxes and Insurance 50 50
Depreciation 560 620
Expenses of Supervision 100 100
Repairs 120 140
Overheads 40 40

Two trucks carried 150 tons of goods each during the month of November,
2015. The distances covered were ‘A’ — 3,500 km. and ‘B’ — 5,000 km.

respectively.

Prepare an operating cost sheet for November 2015 from the above data.
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Teh! TRaeT THESIGAR ATafaedl STl S o=l Hifdeh JiReEre Sameast @

HifeTeha Tl Sqas ool 3R

Z&h ‘A e
3 3
TF AeThrE aad 250 275
Feida o= 150 160
U 300 350
Hifae S 25 30
HES CELEICS 125 125
F aAtor famn 50 50
SR 560 620
U T 100 100
gesdil 120 140
S p) 40 40

2015 =1 FegsR Afg=Td Ueish Zha 150 27 WA a1gA e, e 2 ‘31’ 1 3,500
forclifed @ 2% ‘9’ 3 5,000 fReifged sd Tag sell TR

IUd Alfgdiasd Alesk 2015 AT Afg=arehal = 9y faeai @m0

A—71—2018 11
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